H & 0l & AHS B Ml A

20248 =0ila eI S
SA: XI0H2eld

A Xoj2e(2H/221428)
&l X222

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XI0H2te| 0t 3,786,662 3,982,071 195,409
= 3,800
Jl 1,291,030
= 907,398
Al 1,584,434
Xojarel(2H/249 =) 1,842,946 1,983,834 140,888
= 3,800
) 1,031,430
= 254,949
Al 552,767
XoH2el =24 19,200 22,000 22,800
XIOH2el MEIA efat 19,200 22,000 22,800
201 Ler=23 | 9,900 12,000 22,100
01 At2teltl 7,300 9,000 A1,700
Odgt+==H| 1,600,000& 1,600
oz S 1,200,000& 1,200
ORIEHR SAHA A2 MA
500,000 500
O=EH| 4,000,000 4,000
02 S3=4gl 2,600 3,000 400
O0ssR= « MA 1,000,000& 1,000
OAIE2EbBI=XH 1,600,000& 1,600
202 04| 6,300 7,000 AT700
01 =LHO LI 6.300 7,000 AT700
OZ2E&0H 6,300,000 6,300
203 HR=H] 3,000 3,000
03 A=A PR 3,000 3,000
OAIHH =AY 3,000,000& 3,000
XIOHQH MIE 1,140,230 1,190,640 A50,410
) 705,272
= 216,229
Al 218,729
oKt e 29 X3 883,090 933,000 249,910
Jl 704,472
[ 88,059
Al 90,559
101 @124H| 465,834 474,235 28,401
Il 372,667
== 46,584
Al 46,583
02 JIEtA == 414,952 400,320 14,632
OAIZIEEHSIINS LA 21l & 1=
2,740,000« 128 » 123 »100% 394,560




2A:

X ZH -
o=

XIof2tel
Xojzel(22d/82420F)

ch2| . XI0HQHAIHIE (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 315,648
= 39,456
Al 39,456
OAIZIHLIIH B2 M2 x|
141,610& 12+ 12& 20,32
| 16,314
T 2,039
Al 2,039
M IIRNZ2E2XsSEs 50,882 54,023 A3, 141
OXIHOHAIIA SFIIAF QI2AH] Y Jj2He
2= S 10,380R * 1 *200A| 2+ 123 26,034
| 20,827
T 2,604
Al 2,603
OZ0It= XIOWEDIZE SHAl D122 2 At
SEFEISIRE R
9,860 *6G*105A| 2H+4 24,848
| 19,878
T 2,485
Al 2,485
201 L2 | 135,617 180,083 N4 466
| 106,493
= 13,312
Al 15,812
01 ArR2eltl 95,153 139,619 A4, 466
OXIbHug2elAg 22 & 29 25
25,053,000& 25,053
| 20,042
& 2,505
Al 2,506
OVUBXIS(A) XIHSSHUIA X
20,000,000& 20,000
| 16,000
= 2,000
Al 2,000
OXIDHOIZ2elAte 2T Y 2SS
7,000,000& 7,000
| 5,600
= 700
Al 700
oxtg S Ytz 21,600,000 21,600
| 17,280
= 2,160
Al 2,160




2A:

X ZH -
o=

XIof2tel
Xojzel(22d/82420F)

S| XIOHQHAIHIE (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OXIOHSHEZHAIX L QIS
2,000,000& 2,000
J| 1,600
= 200
Al 200
QIS EZ ) S MHEH|
4,000,000& 4,000
J| 3,200
= 400
Al 400
OARE(EH & SHIA, AIRE2E 22
s) 8,000,000& 8,000
J| 6,400
& 800
Al 800
ou=H(22s) 1,000,000 1,000
J| 800
= 100
Al 100
OXIOHE R HHalIZ XDl HHHE & X
4,000,000& 4,000
J| 3,200
& 400
Al 400
OR33 2dY 2,500,000& 2,500
02 Bs249H| 20,768 18,768 2,000
02322 2 HA 10,000,000& 10,000
J| 8,000
& 1,000
Al 1,000
OAIEEHIS XY 3,000,000 3,000
J| 2,400
& 300
Al 300
oORH 2 XS=23s 2=
4,768,000 4,768
J| 3,814
& 477
Al 477
OXter 24| 3,000,000 3,000
J| 2,400
& 300
Al 300
03 A2 HH| 19,696 21,696 A2,000




2A:

X XH -
o=

XIof2tel
Xojzel(22d/82420F)

chel: XI0HQHAIHIE EER=E)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OXHOIANIE e g =9
2,000,000& 2,000
J| 1,600
= 200
Al 200
OXII=2=2I|0i3] ¥ XIH=2SF2HEHAL
5,696,000& 5,696
J| 4 557
= 570
Al 569
OHE Y ANHT2IY 2
2,000,000& 2,000
J| 1,600
& 200
Al 200
OB JIEXY TRy
3,000,000& 3,000
J| 2,400
& 300
Al 300
OXIOHoE 22IAIY EB2 2
7,000,000 7,000
J| 5,600
& 700
Al 700
202 04| 27,000 32,000 A5,000
J| 21,600
& 2,700
Al 2,700
01 =2LHM Y| 27,000 32,000 A5,000
OAZHEHEHAIHZRER 4|
27,000,000 27,000
J| 21,600
& 2,700
Al 2,700
204 2R sHAY| 5,925 6,925 A 1,000
J| 4,740
& 592
Al 593
02 EdHREH| 5,925 6,925 A 1,000
OAIIHEHLII N2 SHA2HY|
5,925,000& 5,925
J| 4,740
= 592
Al 593




M XI0H2te| 3t
M XA (EH/2HAZE)
chel: XI0HQHAIHIE EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 48,200 53,200 5,000
| 38,560
T 4,820
Al 4,820
11 HALAHIXIE S 5,000 4,000 1,000
OZZ A S| 5,000,000& 5,000
| 4,000
T 500
Al 500
14 J|Et2 43 43,200 49,200 26,000
OIXNZs Tz 2 IIFEH A=
12,000,000 12,000
| 9,600
& 1,200
Al 1,200
OXIHAESA S
200,000& 200
| 160
= 20
Al 2
oY FHoYA =Y
31,000,000& 31,000
| 24,800
= 3,100
Al 3,100
4 HAZRE3S 16,557 15,557 1,000
| 13,246
= 1,656
Al 1,655
2 FAHAEEHZ 16,557 15,557 1,000
OAZEEHAIINSRH =HLEES
16,557,000& 16,557
| 13,246
= 1,656
Al 1,655
307 212+01 A 172,000 171,000 1,000
| 137,600
= 17,200
Al 17,200
01 22 & 3=H| 172,000 171,000 1,000
OZSSEIMA, L=0E S)
145,000,000& 145,000
| 116,000
& 14,500




2A:
X XH -
o e

=aak

XI0H2t| ot
Xoh2el(22H/2H2 =)
XIOHQHA HIE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,500
OXINEXSS(AHLEXM )
11,000,000 11,000
Jl 8,800
= 1,100
Al 1,100
OXIHZ E S Atdl 16,000,000& 16,000
7l 12,800
= 1,600
Al 1,600
308 AFAIEHMSOIE 11,957 0 11,957
7l 9,566
= 1,195
Al 1,19
18 SIS0t HAS A 11,957 0 11,957
OXInoIg2cIArg S0H 2
11,957,000& 11,957
Jl 9,566
= 1,195
Al 1,19
XIHxIZ2teld] K@ (HEAY) 256,140 256,140 0
== 128,070
Al 128,070
308 AHXIHMSO0IA 256,140 256,140 0
< 128,070
Al 128,070
18 SIS0t 4 A A A 256,140 256,140 0
OXIOHXIZ 22| Ml X2 (2-1EHH)
256,140,000 256,140
= 128,070
Al 128,070
S B3=A 1,000 1,500 A500
Il 800
= 100
Al 100
201 eer23y| 1,000 1,500 A500
Jl 800
== 100
Al 100
01 At2teltl 1,000 1,500 A500
OZEXM=e S5=A 1,000,000 1,000
Jl 800
< 100
Al 100




2A:
PSR
ool

XI0H 22|t
XloH2e|(22/821422)
HAALEEK

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FeAH2SH 683,516 771,194 A\87,678
= 3,800
Jl 326,158
= 38,720
Al 314,838
JZZUAY=SIHH K& 51,100 51,100 0
Jl 25,550
Al 25,550
201 et 3| 29,400 31,800 A2,400
Jl 14,700
Al 14,700
01 AtR2t2lt] 26,100 22,640 3,460
OFMAHIFXHEH 2 5,500,000& 5,500
Jl 2,750
Al 2,750
ou=tl 300,000 300
) 150
Al 150
OASIE D] 2ESE 7Y
8,000,000 8,000
Jl 4,000
Al 4,000
oFuAZYA(MANIEE =
130,000 x5 %123 7,800
) 3,900
Al 3,900
OFAHIFAIHEH 2c|SSAH|
3,500,000& 3,500
7l 1,750
Al 1,750
OF=D & BIIEF)| SRz
1,000,000 1,000
) 500
Al 500
02 s3=gHl 3,300 2,300 1,000
0Z332= % HMAl 2,000,000& 2,000
7l 1,000
Al 1,000
OAEEHISAIHl S 1,300,000& 1,300
Jl 650
Al 650
301 EetE2 N = 21,700 19,300 2,400
Il 10,850
Al 10,850




2A:

X XH -
o=

X222
X2 (EAH/B2AH2R)

X

ol JAA2sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 6,600 3,600 3,000
OAt2Ig s H0A S|
8,000 152 #5563 6,600
Jl 3,300
Al 3,300
14 JIEt2a3 15,100 15,700 A600
OFUAHASTAIY =2 ZME
14,000,000 14,000
Jl 7,000
Al 7,000
OAt2Ig s NHESAH S|
1,100,000& 1,100
Jl 550
Al 550
SAAI =AM QIHEE 336,960 425,110 88,150
Jl 168,480
Al 168,480
101 e124d| 313,160 366,823 A\53,663
Jl 156,580
Al 156,580
02 JIEtME = 279,960 288,792 N\8,832
OAIIEHMAI MBS 124t]
2,740,000 ~8H 122 263,040
Jl 131,520
Al 131,520
OAHEERMSIMSFE S22
16,920,000& 16,920
7l 8,460
Al 8,460
M ORINZZE2NSE S 33,200 59,387 26,187
OOt A JI2HA 14|
2,600,000 «1H*12& 31,200
) 15,600
Al 15,600
OOISeraHA JI2HN 40 EE=
2,000,000 2,000
Jl 1,000
Al 1,000
202 04l 7,000 41,333 A34,333
Jl 3,500
Al 3,500
01 =LHOHI 7,000 41,333 A\34,333
OAREERIZIIMSSE ol
7,000,000 7,000
Il 3,500




A X022
M XA (EH/2HAZE)
ol JAA2sd (&9 A
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 3,500
204 MNP AH| 4,800 6,724 A1,924
| 2,400
Al 2,400
2 SEH2Z| 4,800 6,724 A1,924
OAIEEHAIINSEH EFZREHI
4,800,000 4,800
| 2,400
Al 2,400
N4 AsREIS 12,000 10,230 1,770
J| 6,000
Al 6,000
2 SCAHLEEHS 12,000 10,230 1,770
OARHIEHAIIMZSFE SCHLEER
12,000,000 12,000
| 6,000
Al 6,000
Ao 2 FAALASEAIY 30,884 30,540 344
| 15,442
Al 15,442
101 eI H| 28,080 25,000 3,080
J| 14,040
Al 14,040
02 JIEt& &2 28,080 25,000 3,080
OAIRHIEHIAI ISR el24d|
2,340,000 x 1B+ 122 28,080
| 14,040
Al 14,040
201 Let2| 1,804 4,540 N2,736
| 902
Al 902
01 AtR2telt] ,804 4,540 AN2,736
OXHTAIE2YE EE2E P& & WA
1,804,000& 1,804
| 902
Al 902
301 LBENF 1,000 1,000 0
J| 500
Al 500
14 JIEt2 43 1,000 1,000 0
OXHA LAY ZALZ 1,000,000& 1,000
J| 500
Al 500
SAALSXNME KHUEAIE K& 74,072 70,978 3,094




2A:
PSR
ool

XI0H2te| 2t
XloHzel(E2/8H2
HAHAZE

(]

oZ)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 37,036
Al 37,036
101 @124H| 70,960 66,173 4,787
Jl 35,480
Al 35,480
02 JIet&E == 37,000 32,420 4,580
OAIZIHE RTINS SE 12
2,920,000« 1H* 122 35,040
Jl 17,520
Al 17,520
OAIZIHLII M B2 M2 x|
1,960,000 1,960
Jl 980
Al 980
M IRNZZ2NSE 33,960 32,125 1,835
OIINHIR Q1Y Y I PR
2,830,000« 1H =122 33,960
Il 16,980
Al 16,980
202 04| 1,082 3,358 N2,276
Jl 541
Al 541
01 SLHoIH 1,082 3,358 N2,276
OAZEERILIIMSSE o4l
1,082,000 1,082
Jl 541
Al 541
204 MR AH| 530 525 5
Il 265
Al 265
2 SELREH 530 525 5
OAIZIEEH RIS R S22
530,000 530
Il 265
Al 265
04 HSRESS 1,500 922 578
Jl 750
Al 750
02 2UAHZEES 1,500 922 578
OAZEEMSIINESFE =2AHABEES
1,500,000& 1,500
2l 750
Al 750
SSINALSTAS 146,000 146,000 0




s

SA X022
3 XoH2Ae|(2A/2492)
ool HAAAEZ (EHl:
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 73,000
=S 36,500
Al 36,500
201 fer=3| 105,000 87,300 17,700
Jl 52,500
= 26,250
Al 26,250
01 At 22|l 102,000 69,300 32,700
OSSFMALSIMNY 2Y
30,000,000& 30,000
Il 15,000
= 7,500
Al 7,500
OXteg Stz 28,000,000& 28,000
Il 14,000
= 7,000
Al 7,000
oSt A 29 10,000,000 10,000
Il 5,000
= 2,500
Al 2,500
OFAAY AN & HEAY S24|
10,000,000& 10,000
Il 5,000
= 2,500
Al 2,500
oxtz2 &g =29 24,000,000& 24,000
Il 12,000
= 6,000
Al 6,000
02 S3=gHl 3,000 1,000 2,000
o0sE2= & HA 1,000,000& 1,000
Il 500
= 250
Al 250
OXg==Hl S 2,000,000& 2,000
Il 1,000
= 500
Al 500
301 eEetE2 N = 8,000 16,000 /8,000
Il 4,000
= 2,000
Al 2,000
4Bt 2 a3 8,000 13,000 /5,000




SA: X2l ot
3 XoH2Ae|(2A/2492)
ol JAA2sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSIANALSIAE SAtE
5,000,000& 5,000
Jl 2,500
[ 1,250
Al 1,250
oM T20| S BEY|
3,000,000& 3,000
) 1,500
< 750
Al 750
307 elztol & 13,000 13,000 0
) 6,500
< 3,250
Al 3,250
0192 & 3=l 13,000 13,000 0
OFMEET} 2428 P2
13,000,000& 13,000
Jl 6,500
[ 3,250
Al 3,250
308 XXM SOIA 20,000 0 20,000
Jl 10,000
[ 5,000
Al 5,000
13 SIS0t 34 A AS A 20,000 0 20,000
odulAgd S 214l 20,000,000 20,000
Il 10,000
== 5,000
Al 5,000
OlsEAE FAZHAY 13,300 13,300 0
Il 6,650
Al 6,650
201 Ler23| 7,000 8,800 21,800
Jl 3,500
Al 3,500
01 AtR2t2|HI 6,000 5,800 200
OltsEAE FUAHLSIAYE 24
6,000,000 6,000
Il 3,000
Al 3,000
03 A2 I 1,000 3,000 22,000
OodH T2l 5 2% 1,000,000 1,000
Jl 500
Al 500




2A:
PSR
ool

XI0H2te |t
Xloh2e|(Z22/2249

HNAHAAUZE

2)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 2,800 2,500 300
Jl 1,400
Al 1,400
11 #AIMHIXIE S 800 1,000 A200
O¥™E ZZ2 1 S|
8,000 x50 *23] 800
Jl 400
Al 400
14 JIEt2 8= 2,000 1,500 500
OZA= 2,000,000 2,000
7l 1,000
Al 1,000
307 elztol & 3,500 2,000 1,500
) 1,750
Al 1,750
012z & 2=H| 3,500 2,000 1,500
OootsE AW 2=H| K& 3,000,000 3,000
Il 1,500
Al 1,500
O0ts&EAYE ZAEE 7Y
500,000 500
Il 250
Al 250
el g X=X 7,600 7,566 34
= 3,800
= 1,140
Al 2,660
307 elzto| & 7,600 7,566 4
= 3,800
[ 1,140
Al 2,660
0122 & 3=l 7,600 7,566 34
OFeEekt xIzdl X 7,600,000 7,600
= 3,800
== 1,140
Al 2,660
KSALE] HAHLSEAY 6,000 6,000 0
307 elztol & 6,000 6,000
0192 & 3=l 6,000 6,000
OZuEekt ozl X 6,000,000& 6,000
AL =ERNEEH 2 14,000 17,000 /3,000
201 er23| 12,200 16,000 /3,800
01 AtR2t2|HI 4,200 6,000 1,800
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2A:

X XH -
o=

XI0H2t| ot

ojerR e

o

HO

0K 0K
0K O
lo 1o
HU U

&2l ok (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 450
03 A= I 2,000 2,000 0
odsisE 28N 2,000,000 2,000
Il 1,400
= 150
Al 450
AssEsa) 25 A 2,400 5,000 /2,600
Il 1,200
Al 1,200
405 AtatE = 2,400 5,000 2,600
Jl 1,200
Al 1,200
01 Tt =S F = 2,400 5,000 22,600
ONSAFERI| 22 X
2,400,000 2,400
Jl 1,200
Al 1,200
NASE MH R HFAFAS 3,750 7,000 23,250
=S 1,875
Al 1,875
307 @I2to| & 3,750 7,000 A3,250
== 1,875
Al 1,875
0122 & 3=l 3,750 7,000 23,250
OMASE MH & A4FXA
3,750,000& 3,750
= 1,875
Al 1,875
3O ESAY 920,678 918,200 2,478
= 575,424
Al 345,254
307 @I2t0| & 920,678 918,200 2,478
== 575,424
Al 345,254
02 LB HANHEE 920,678 918,200 2,478
O3BAMESAIY 2| X2
920,678,000 920,678
S 575,424
Al 345,254
FHANG S22 JlsAdy 150,000 150,000 0
= 75,000
Al 75,000
307 @120l & 150,000 150,000 0
== 75,000




2A:

XI0H2t| ot

M orae| U S2Z2(BAH/EAHF)
ciel: olormae| 9 2202 (ol m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 75,000
02 PIIH AN BT 150,000 150,000 0
oK SToARI|B IS
150,000, 000& 150,000
T 75,000
Al 75,000
ook A 2te| 11,500 10,100 1,400
201 LBH2AH| 11,000 9,600 1,400
01 AtR2telt] 8,800 7,000 1,800
oot Az 5,600,000& 5,600
o8, 0t&EX, 28,8t 5 EE2 NE
3,200,000& 3,200
2 S=29| 2,200 2,600 2400
OXE==FHl S 1,600,000& 1,600
oS3 600,000& 600
301 LPENSZ 500 500
14 J|EI2 A3 500 500
OXHIXF 2Z2D10| A &8 Bas
500,000& 500
MNEA 24 23R At 300,000 300,000 0
307 2I2+01™ 300,000 300,000
02 QIZHAAAIHE X 300,000 300,000
OAMNES S34 2% K&
300,000,000& 300,000
3650HA! 2HH A HIAALS 201,39 201,39
307 212+01 A 201,39 201,39
02 QIZtAAAIEER 201,39 201,399
O350t 2HHMHIAALY 2ZH] XI&
201,399,000& 201,39
A2 AAHI(XI0N2E| ) (JIEHDIE) 94,989 115,937 A20,948
ol 2| 55,489 67,117 A11,628
olE2HH| 55,489 67,117 A11,628
101 21| 55,489 67,117 A11,628
01 8= 55,489 67,117 A 11,628
ox=uZRE 55,489
Slo= 12,5313 #4G«30Al 2t 12 18,045
o7= 11,3193 «3H*30A| 2t 123 12,225
=8= 10, 1623 x5H*30A| 2t 123 18,292
=9= 9,620R x2H*30A| 2t 123 6,927
JlE2al 39,500 48,820 A9,320
J|1E23&| 39,500 48,820 29,320
201 B2 AY| 5,600 10,120 A4,520
01 AtR2telt] 5,600 10,120 A4,520




2A:
X XH -
o e

=aak

XIOH2t2l
™S AAY| (X022l ) (JIEHIIE})
Jl=&H]

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

oget2dl 5,600,000 5,600

202 04l 28,800 33,600 /4,800
01 =LHOHI 28,800 33,600 4,800
OZLHEHNH 160,000 x 15 = 12& 28,800

203 =4l 5,100 5,100

MU FA2SHI LI 5,100 5,100
ORMEIE =T 425,000« 122 5,100




